Subject: Re: List view (List3)
Posted by AJM on Wed, 16 Dec 2020 09:48:58 GMT

View Forum Message <> Reply to Message

No. With a LIST pattern there are 3 tables - outer, middle and inner. Both the outer and middle
tables will show only one row while the inner table will show multiple rows. At runtime the primary
key of the outer table is passed down to the middle table so that it can read all children of that
parent, but only show them one at a time. Then the primary key of the current row in the middle
table is passed down to the inner table so that it can read all the children of that middle row, and it
will show them in pages.

If you want to bypass the middle table then you should use a LIST2 pattern which does not have a
middle table.
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